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YA H HA: o
3x+ 43 + Tx + 3(5x3 - 8x3) 8x+ x> — 0% — 3(3x2 + 6x)
4% + 5x — 3% — 4(3x3 + x3) S0+ 0x® — 9x° + 4(2)62 + 6x)
6x° + x + 2(3x% + x) — 2x° 2(2x° + 9x) + 3x° — 5% — 2x°
3 2 o3 2 3_
Tx” +2x" — 8x” + 3(x" — 4x) 2x + Tx+ 6x° — 4(3x + 2x)
8x + 6x% + 5x° + 8 + 3x° 6x° + 6x° — 4(x + 4x2) + 8x
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3x+ 4 + Tx + 3(5x3 - 8x3)
—0x> + 4% + 10x

43 + 5x— 3x% — 4(3x3 +x3)
—12x° — 3% + 5x

6x> + x+ 2(3x° + x) — 2x?
6 + 42 + 3x

7+ 2% - 8 + 3(x2 — 4x)
— + 57 — 12x

8x + 6x% + 5x° + 8> + 3x°
16x° + 6x* + 8x

H HA:

8x+ x> — 9x% — 3(3x% + 6x)
x> — 18¢% — 10x

5 + 9 — ox + 422 + 6x)
5 + 8¢ + 24x

22 + 9x) + 3x° — 5a% — 22
7 — 7% + 18x

2x+ Tx+ 6x° — 4(3x + 2x)
6x> — 1lx

6x% + 6x° — 4(x + 4x%) + 8x
6x> — 1007 + 4x
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